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Start

Follow-up question

Explanatory question

Classification

Explanatory text

gl=option7

ql-option6

Describe the output

gql=option6

optionl:
option2:
option3:
option4:
option5:
option7:
option6:

gl. Output of the application?

score, ranking, probability
label, classification
recommendation
decision

content

dashboard

other type of output

gl=optionl
gl=option2
gl=option3
gl=option4
gl=option5

g2=no

g3-yesl

Which law or regulation?

q3=yesl

g3. Is the application an automation of human-defined rules?

yesl:yes, law, regulation or formal policy

g2. Is the design of the application based op
data?

yesl:yes, design choices made manually
yes2:yes, based on statistical methods
no: no

g2=yesl

i yes2:yes, automatisaion of rules, not explicitly defined in law
yes3:yes, on logic and knowledge-based approach
no: no

g3=no

q3=yes2
g3=yes3

q3-no

Describe the application

q2=yes2
g2-yes2

Which method?

textl: Your application is
an Al system acoording to
the Al Act

outputl: High-impact
algorithm, no Al system

A 4

text2: Next step

q5-option8

Describe decision

g5=option8

A 4

g5. What type of decision?

optionl: on prioritization of applications, requests,
complaints, and objections

option2: on formal complaints and objections

option3: with direct financial consequences

option4: on applications and requests without direct financial
consequences

g7-option5

A 4

text2: Next step

option5: on inspection, investigation, or requests for Describe effect
additional information
option6: on school assignments g5=optionl '
option7: on providing advice or (proactively) offering services q5=option2 g7=option4 )
or p.rovisions g5=option3 g7=option>
q4=yes option8: other g5=option4
g5=option5
q5=opt?on6 q7. What is the effect of the application on the outcome of the
g5=option?7 process?
optionl: decision is made without human interference, control on
g4. Is a decision made about a individual hindsight
. citizen, organisation or employee? . opt?onz: heavily i.nfluencing.the deci§ion - SRS [
> » option3: supporting the decision, ultimate decision is taken by a .
algorithm, no Al system
yes:yes human analyst
no: no option6: outcome is determined by human analyst, algorithm q7=optionl
influences the flow of the process q7=option2
option4: outcome and flow of the process are fully determined by q7=option3
a human analyst q7=option6
option5: other type of effect
g6-yes
Describe process
q4=no
g6=yes
yY
g6=unsure
g6. Is a decision made about a group of citizens, organisations
or employees?
yes:yes
unsure: | am not sure
no: no g6=no
Geen Al-systeem
Al-systeem
5-option8
Al output2: Al system, no
Describe decision high-impact algorithm
y ry
g5=option8
g5. What type of decision?
optionl: on prioritization of applications, requests,
complaints, and objections
option2: on formal complaints and objections
option3: with direct financial consequences
.| option4: on applications and requests without direct financial _
consequences q7-option>
option5: on inspection, investigation, or requests for )
additional information Describe effect
option6: on school assignments & optionl
option7: on providing advice or (proactively) offering services 4->=op !on q7=option4
or provisions g>=option2
option8: other g5=option3 g7=option5
gqd=yes g5=option4
g5=option5 . L
q5=option6 g7. What is the effect of the application on the outcome of the
2
g5=option7 process:
optionl: decision is made without human interference, control on
hindsight
q4. I.s.a decision rnaLjJe abouta individual option2: heavily influencing the decision
N citizen, organisation or employee? .| option3: supporting the decision, ultimate decision is taken by a outputd: High-impact
v human analyst algorithm and Al system
yes:yes option6: outcome is determined by human analyst, algorithm i
no: no . q7=optionl
influences the flow of the process .
. . q7=option2
option4: outcome and flow of the process are fully determined by 7=option3
a human analyst q7-option6
option5: other type of effect a/=op
6-
g6=yes ab-yes
Describe process
q4=no
A
qb6=unsure
g6. Is a decision made about a group of citizens, organisations
or employees?
yes:yes
unsure: | am not sure
q6=no

no: no
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